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Adding and Subtracting 10s and 100s Name:
Fill in the blanksfor each problem.
789+ 10= 368 - 10 = 350 + 100 = 615 - 100 =
652 + 10 = 873-10= 80+ 100 = 369 - 100 =
227+10= 114-10= 538 + 100 = 781 - 100 =
711+ 10= 72-10= 625 + 100 = 731-100=
884 + 10 = 356-10= 142 + 100 = 660 - 100 =
37+10=__ 511-10= 612 + 100 = 341-100=
599 + 10 = 798 -10= 335+ 100 = 910- 100 =
911+ 10= 874-10= 163+ 100 = 469 - 100 =
168 + 10 = 988 - 10 = 646 + 100 = 183-100=
501+ 10 = 777-10= 181 + 100 = 307-100=
561 + 10 = 846 - 10 = 519 + 100 = 720- 100 =
474+ 10 = 240-10= 676 + 100 = 637 - 100 =
156 + 10 = 91-10= 794 + 100 = 808 - 100 =
947 + 10 = 753-10= 595 + 100 = 250 - 100 =
938+ 10 = 582-10= 838 + 100 = 271-100=
865 + 10 = 537-10= 110 + 100 = 423-100 =
35+10=_ 322-10= 327 +100 = 829 - 100 =
294 +10= 131-10= 383+ 100 = 576 - 100 =
763+ 10 = 889-10= 594 + 100 = 939 - 100 =
816+ 10 = 995-10= 83+ 100 = 620 - 100 =
610 + 10 = 904 - 10= 398 + 100 = 932-100=
137 +10= 194 -10= 82+ 100 = 965 - 100 =
603 + 10 = 604 - 10= 323+ 100 = 314 - 100 =
891+ 10= 484 - 10 = 670 + 100 = 957 - 100 =
334+10= 102-10= 272 +100 = 360 - 100 =
D P e




=

Adding and Subtracting 10s and 100s Name: Answer Key

Fill in the blanksfor each problem.

789+10=_ 799 368-10=_ 358 350 +100=_ 450 615-100= 515
652+10=_ 662 873-10=_ 863 80+100= 180 369-100= 269
227+10=_ 237 114-10= 104 538 +100= 633 781-100= 681
711+10=_ 721 72-10=_ 62 625+100= 725 731-100=_ 631
884+10= 894 356-10=_ 346 142 +100= 242 660-100=_ 560
37+10=_ 47 511-10=_ 501 612+100=_ 712 341-100=_ 241
509+ 10= 609 798-10= 788 335+100= 435 910-100= 810
911+10= 921 874-10= 864 163+100= 263 469-100= 369
168+10= 178 988-10= 978 646+ 100= 746 183-100= 83
501+10= 511 777-10= 767 181+100= 281 307-100= 207
561+10= 571 846-10= 836 519+100= 619 720-100= 620
474+10= 484 240-10= 230 676 +100= 776 637-100= 537
156 +10= 166 91-10=_ 81 794+100= 894 808-100= 708
947+10= 957 753-10= 743 595+ 100= 695 250-100= 150
938+10= 948 582-10=_ 572 838+100= 938 271-100= 171
865+10= 875 537-10=_ 527 110+100=_ 210 423-100=_ 323
35+10= 45 322-10= 312 327+100= 427 829-100= 729
294+10= 304 131-10=_ 121 383+100=_ 483 576-100= 476
763+10= 773 889-10= 879 504 +100= 694 939-100= 839
816 +10= 826 995-10= 985 83+100= 183 620-100= 520
610+10= 620 904-10= 894 398 +100= 498 932-100= 832
137 +10= 147 194-10= 184 82+100= 182 965-100= 865
603+10= 613 604-10= 594 323+100= 423 314-100= 214
891+10=_ 901 484-10= 474 670+100= 770 957-100= 857
334+10= 344 102-10= 92 272+100= 372 360-100=_ 260
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